
U
P

G
R

A
D

E
 K

IT
 S

P
E

C
IF

IC
A

T
IO

N
S

 #
0

1
/0

2
#upgrade kit EXT-KIT-38

SKU

Reliability and Performance

Raise3D DualDirect

Upgrade kit Direct Drive

EXT-KIT-38

NAME

TYPE

SKU

Rev. 2024.03.27

Speci cations Comments Speci cations Comments 

Filament Diameter 1.75mm Motor Insulation Class Class-B Up to 180°C

Compatible Printer Raise3D N-Series Push Force

Includes Custom BMG Extruder Tension Adjustable with Thumbscrew

E-Steps
415 @ 1/16 micro stepping 
830 @ 1/32 micro stepping        Max Peak Current 0.7A Recommended current 450-600mA

Drive Wheels Hardened Steel Nitrocarburized SS1914, Surface coating Stepper Motor
Nema17 Pancake stepper motor 
25mm

Top Fitting Tube Od 4.0 mm Motor Connector JST-XH 4-pin connector                    

Materials Compatibility Abrasive, rigid, semi- exible, exible and soft Filament Diameter 1.75 mm

Mounting Custom for Raise3D N-Series
See drawing above for more details about mounting points 
location and thread dept Lubrications Berutox FB22

Visual inspection every 100 print hours. Clean and apply new 
lubrication on the gears

Max Tightening Torque 0.3Nm CE Certi ed Yes

Housing PA 12 GF SLS printed housings with glass lled Nylon (PA12 GF) RoHS Yes

Working Temperature Up to 100°C
Motor selfheating ~80°C @ 1000mA + Chamber temp must 
not exceed 180°C REACH Yes

Weight 150 g Net weight

https://www.bondtech.se/downloads/TDS/Bondtech_EXT01LGX41003.pdf



U
P

G
R

A
D

E
 K

IT
 E

X
P

L
O

D
E

D
 V

IE
W

 #
0

2
/0

2
Reliability and Performance#upgrade kit EXT-KIT-38

SKU

Rev. 2024.03.27

Item Ref. Qty. Description Article Number

1 1 Card cover

2 1 Shim revision 1

3 1 Shim revision 2

4 2 Primary drivegear 1.75/5.0 11011

5 2 Secondary drivegear 1.75/5.0 11012

6 1 Motorgear 17T Design2

7 1 Motor gear 17T 15002/15002B

8 2 Shaft assembly 15021

9 1 Housing back

10 1 Housing front

11 2 BMG Hinge

12 1 Housing middle

13 1 Epoxy decal 35x12 T1004

14 2 13003 13003

15 2 Thumbscrew Assembly 15026

16 1 Hardened Cylindrical Shaft 3x20 STIFT3X20M6

17 2 Hardened Cylindrical Shaft 3x32 STIFT3X32M6

18 1 CPK DIN 6325 Hardened Pin

19 2 Push t collar 4mm 12016

20 1 Multisert gänginsats M2.5x0.45 001/M2.5

21 6 Thread insert M3x5,2 001/M3

22 4 Ballbearing 5x8x2.5 MR85ZZ

23 4 Needlebearing K3X5X7

24 2 Hex Screw M3x35 M3X35OBEH

25 5 Obehandlad Insexskruv Cylindrisk M3x5 M3X5OBEH

26 4 Obehandlad Insexskruv Cylindrisk M3x8 M3X8OBEH

27 2 MF6S M4x10 

28 2 Obehandlad Insexskruv Försänkt M3x6 M3X6FSOBEH

29 4 Setscrew M3x3.0 P6SSM3X3

30 1 Cable chain (Original screws)

31 2 Obehandlad Insexskruv Försänkt M3x10 M3X10FSOBEH


